0 points) For the following statements, answer by TRUE or FALSE. When -~
FALSE, give a counterexample:

/\ a. If Za converges then it converges absolutely.
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/ b. Given that 0 < f(x) < g(x) for all x, and jg(x)dx dlverges then ff(v)dx diverges.
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a,/ Use the ratio test to determine if the following series converges or diverges. List the
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points) Determine whether the following sequence converges or diverges. If the
sequence converges, find its limit.






E/? 31) (5 points) Estimate the magnitude of the error involved in using the sum of the first

five terms to approximate Z 1)’ — . (Assume that the series satisfies the
nl

conditions of the A}tematmg Series Test).
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7 5) (10 points) Determine whether

dx converges or diverges. Give a reason
x
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for your answer.
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Mints) Determine whether the following series converges absolutely, converges
conditionally, or diverges. Justify your answer.
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SHfO points) Determine whether the following series converges or diverges. Give a
reason for your answer.
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